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QUESTION 1

Where within Cisco Transport Controller can the user view the software release level for all nodes in the network? 

A. Shelf ? Maintenance ? Software 

B. Node ? Maintenance ? Software 

C. Network ? Maintenance ? Software 

D. Shelf ? Maintenance ? Wavelength Power 

Correct Answer: C 

 

QUESTION 2

In which three modes can NCS 2000 100G line cards operate? (Choose three.) 

A. transponder 

B. amplifier 

C. trunk using a separate client card 

D. regenerator 

E. encryptor 

F. dispersion compensator 

Correct Answer: ACD 

 

QUESTION 3

Which three types of performance monitoring data are available on transponders and muxponders? (Choose three.) 

A. optics 

B. utilization 

C. payload 

D. power consumption 

E. G.709 

F. distance 

Correct Answer: ACE 
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QUESTION 4

How many shelves can be subtended from a node controller shelf in an NCS 2006 multishelf configuration? 

A. 2 

B. 3 

C. 0 

D. 6 

Correct Answer: B 

 

QUESTION 5

What does setup do with passive units? 

A. They are skipped. 

B. It returns an error. 

C. It inserts a placeholder in the rack diagram. 

D. It prompts the user for more information. 

Correct Answer: C Question Set 1 
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